. f"

b.

12

b.

J 29
‘A Statisties Review
AFM Name \ "
0
The following data vepresemts 1l

. amount of snowlall (in inches tecelved at )
Mountains from the 1996.1997

ski season 1o the 2008. 2006 ski season
LLFLF I

dammoth Mountain in the Sierra

2 1347

-

* RL | 400

" i
Find the mean. 7 | | | |
‘“l\. O 1V ('\ ¢ A 280 1358 1439 |602 ] l
- X , ' i | :
\\ \‘Hlti You l|\f" f\(““l‘h" Ol l\l\l\ulﬂhun stundard lh-\ﬂi“]i"n'_' :
Find the standard deviation by AND.
& & i _ bk
K l )v(_l.. ) V( M 11
The following test grades are for the only Pre-calculus course in the ¢ {78
o )
school, 7 (24578899
Find U 8 023455689
‘Ind the mean. @ ¢ 9 0012373
%:J t\ ‘\ 10 10

Would you use sample or@opulmiﬁh‘ standard deviation?

Q Find the standard deviation uqmg your calculator,

Gy = £
Determine if qualitative, quantitative discrete, or quantitative continuous.
3. Brand name of a pair of running shoes @ L

4. Number of siblings CQ D

- 5. Weight in carats of an uncut diamond

.d.

Determine whether each study depicts an observational study, experimental study, or simulation.
6. A parent group randomly examines 25 randomly selected PG-13 movies and 25 randomly selected PG
movies and records the number of curse words that occur in each. They then compare the number of curse

words between the two movie ratings. (%) S

7. A sample of 504 patients in carly stages of Alzheimer’s disease is divided into two groups. One group
receives an experimental drug; the other group receives a placebo. The advance of the disease in the
patients from the two groups is tracked at l-monlhEi%rvals over the next year,

8. To check to see if a pair of dice is loaded, you roll them 100 times and record your results,

QW
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, or convenience).
Determine the type of sampling waed (simple random, dratified, f:lumr.”‘r s APRS,
9. On Election Day, a pollster from Fox News positions herself outside a polling pla - She ey
asks the firy &0 voters leaving the facility to complete a survey.

/ Al An{ L. y

; (NN EML L LA . . . 1t then surveys eve
An internct service provider randomly selects 15 residential blocks from a Iﬂ'kf‘ . : -fil)werc !
houschold in these 15§ blocks to determine the number that would use a high-speed internet service 1

made available, .
CAuA €N

11, Thirty-five sophomores, 22 juniors, and 35 seniors are randomly selected to participate in a study from 574
sophomores, 462 juniors, and 532 seniors at a certain high school.

Sty A< P
control engineer wants 1o be sure that bolts coming off an assembly linc are within prescribed
¢ quality-control engineer randomly picks blots off of the assembly line to test.

SES

13. The table shows the resulting scores of the final exam in AFM for 90 Students at Middle Creek High
School.

10.

12, A quality-
tolerances. Th

Scores 53-61 61-69 69-77 | 77-85 85-93 93-101

Frequency 3 7

11 38 19 12
a. Find the class limits for the row with frequency 19. < —2
b. Find the class interval. -4 °
C. Make a histogram of the data.
€0

§o
20 it

2 @E‘_

——t % L4 1 \

$% @l 9 11 8S 1% lej

14. The data shows the average temperatures In J anuary for several cities in the mid- South

49.1 50.8 42.9 44 44.2 51.4 45.7 39.9 50.8 46.7 52.4 504
a. Find the mean, median and the mode by }m@

= C
b. Find the values of Q1, Q2, Q3, range, interquartile range and the outliers by H

Q\= yu,\ XA =608 l@ﬁ"?ﬁ%

Q2 (MW oy <115 pudtiong? = nan
c. Sketch a Box-and ~Whisker plot. :

=Y

N [ S
\
Wo “5 =
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, A family goes grocery !hnp lne every 2 "
$72.42 SIS $58.99 ps:;(:;r) week. In a month the cost of the groceries are

a. Find the mean. i q ;{

< . Find the s % ot
: b ¢ *lﬂndard dC\Iiﬂmn b‘\‘ Im‘\.l]‘ (\\'hich are !(\" Ff\iﬂg {0 use: [‘!"r‘uhﬁon f‘f
- Y
S =1,678

16. Refer to the circle graph which shows who paid for the resea rch and development done in the
U. S.in 1988. If the total amount of rescarch funded was about §126,115 million:

source of Funds

a. About how much was funded by the Federal government?
$0S36. 2 WA

b.  About how much was funded by industry? on

3 0UU9. 085 wallion

ST~ Universities, Catteges
and others
A1%

17. Use the histogram to answer the following:

9T
@ a. Descx&be&hj shape of thz‘%istribution. "
b Lkt
b. Which is higher the mean or the(median? i
g n or the@ediap]
-
c. About what percentage of the scores are greater § 51
T 41
than or equal to 15 and less than 187 & 51
£ . .12
%0 0 ,J::.::.
0123 456728 910N 12 13 14 1516 17 18 19 20 21
Score
18. Describe the shape of the distribution of each graph.
Solar Eclipses, 2001-2010
a. g ! o e b. Number of Text ¢
g s} M tTod
2 : : essages Sent Today . Height of Trees (it)
i X %
8 ; X
il | | — «  $%E , EET
® oor- 231- 501~ 231- 1001- X X X X X
236 500 730 1000 12:30 L XXX X X X X e —— e —t——
Duration (minutes: seconds) R A 10 0
NSOV 7) '\{j,\a‘l%o{' 1718192021 22232425 2 &30S
Miles Ran Each Week SW Lef SW L@H’

9 e % XXX
B3 exxy

@ Lux

9 L XX
2 4xx

35

Wi

) B Fxx
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